Algebra 1 Pre-Assessment (Multiple Choice)



1. Find 15 – 2(9 – 3)

a. 3
b.  78
    c.  114     d.  9

2. Find (8 – 3) ∙ 3² + (5 + 15) ( 4

a. 16.25
b.  230
    c.  50       d.  65

3. Find the algebraic expression that represents the sum of 7 and four times a number.

a. (7 + 4)n   
b.  7n + 4n    
c.  7 + 4n   
d.  7n + 4

4. Simplify the expression:  -2(4h + 5)

a.  8h + 10   
b.  -8h + 10

c.  -8h + 5
d.  -8h – 10

5. Simplify:  
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a.  6m + 10
b.  6m – 10

c.  -6m + 10
d.  -4m

6. Find A given the formula 
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 where M = 2, m = 8, and h = 5.

a.  25       b.  45      c.  30     d.  100

7. The senior class is planning a trip that will cost 55 dollars per student.  If 4180 dollars has been collected from the seniors for the trip, how many have paid for the trip?

a.  4135    b.  4235    c.  229,900   d.  76

8. You shovel snow.  You charge $7 per driveway and earn $84.  Let x represent the number of driveways you shoveled.  Write an equation to model your total earnings.
a.  84 = 7x     
b.  84x = 7

c.  7x + 84 = 0
d.  84x = 7x
9. Each of the numbers 20 through 50 is written on a ball then placed in a bucket.  If one ball is randomly removed from the bucket, what is the probability that the number on the ball selected is even?
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10. Eight boys and four girls are ready to enter a room.  If they enter the room in random fashion, what is the probability that a boy will enter the room first?
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11. Find the probability of selecting a yellow block from a bag containing 5 red, 4 yellow, 8 green, and 3 blue blocks.
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12. Write an algebraic expression for:  
                             five more than triple j
a.  j + 5      b.  j + 3(5)
 c. (j + 3)5    d. 3j + 5

13. Write an algebraic expression for:  
twice the sum of 5 and b.
a.  2(5) + b     
b. 2(5 + b)     
c.  5 + 2(5)    
d.  2(5 – b)

14. 21 less than half a number is the same as four times the number.  What is that number?

a.  -12
b.  -6
c.  12
d. 6

15. Evaluate:  
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16. Evaluate:  8 
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How many more pets were adopted in 2002 than 2000?

a. 2   
b. 5

c. 8

d. 13

18. Evaluate:  8(n² + n) for n = -2.

a.  -48
b.  16
  c.  -16         d.  -14

19. Solve:  y – 5 = 22
a. 17   
b.  4.2         c. 26        d. 27

20. Solve the equation 5x – 6 = 29
a.  7   
b.  4.6 
       c.  175      d. 115
21. Solve the equation:  2(7p – 3) = -20

a.  1        b.  0            c.  10        d.  -1
22. Solve:  2j + 24 = 6j

a.  3
b.  32
       c.  6          d.  18

23. Solve:  27 = -9(2k – 7)

a.  8       b.  -2      c.  2     d.  -3

24. Solve:  6 + 3n – 15 = 5n - 2(4 – n)
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25. Solve 6a – b = 10 for a.
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26. Solve:  A = bcd for c.
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27. Which car gets the greatest miles per gallon?

a.  one that travels 100 miles on 6 gallons

b.  one that travels 150 miles on 7 gallons

c.  one that travels 200 miles on 8 gallons

d.  one that travels 175 miles on 5 gallons
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In the given figure, what are the coordinates of point M?
a.  (3, 1)

b.  (-3, 1)

c.  (3, -1)

d.  (-3, -1)

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


29. Of the following points, which one is on the graph 
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a.  A

b.  B

c.  C

d.  D

30. Find the equation of a line that has a slope of -3 and a y-intercept equal to 
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a.  6x + 2y = -3         b.  y + 3y = -2

c.   9x + 3y = -2        d.  3x + 9y = -2
31. Find the slope of the line that passes through the points (4, -3) and (5, 7).
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32. Determine the domain and range of the relation:  

	x
	-2
	-1
	0
	3

	y
	-4
	-3
	-2
	1



a.  domain:  {-4, -3, -2, 1}    range:  {-2, -1, 0, 3}


b.  domain:  {-2, -1, 0, 3}     range:  {-4, -3, -2, 1}    


c.  domain:  x < -2    range:  y < -4


d.  domain:  {1, 1, 3}     range:  {1, 1, 3}
33. Does the table of values represent a function? 

	x
	-2
	-1
	0
	3

	y
	-4
	-3
	-2
	1



a. yes, it is a function    b. no, it is not a function

34. Write the equation of the line that has a slope of -3 and a y-intercept of 6.

a.  y = 3x – 6 
b.  y = 6

c.  y = 6x – 3
d.  y = -3x + 6

35. Write the equation of the line:  slope = 
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36. Sketch a Graph of:  y = 
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